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(D
2)

3)
“4)

®)

(6)

()
®)

©)
(10)

(11)
(12)

(13)

(14)
(15)

I GITUIRd o Ta9RT aTed. et faam 1 99 gom s fawamandt 19 25 9 fa9m I w9 it
foraTETet 26 1 75 T TH 75 U 3ed. T Y WS(A0] SAeTF 3TE.

Ik JIATST 2 T[0T 371,

TR Hrefauaret Tk 90 fafter=n st faan s

3TTed. A 3T AT A shHlich ST aged Jerdl Saeiud S aeTgaTe TraT.
3. Y o, 6 AT TR I 94T 3. 2 378, R A JESITIHT icara.

s %h. 6 Ol ISIO)
QAT Figfoeret S TTel SO IUR TRId. 3T W Agfaedd & T ‘I’ T foet S,
WO

T I el Wed shicedl Toha e T Siciy-=re arqe syl Ifers Aiefeaeiat ST UTel
RO IR .

TehaT A Sfaerelt ST Ul I&etan JuTR ATéE.

JYUIR TE.

YT Wtk UTHTeR @il o IS ST UTHTeR dhed ShH HOITEIS! Hished! ST 3718, A9 ohed hi i

T Tifed e ST TETeHl J9 I Gl Id T9edrd Jeid Y9 |iedl. veet da Reeeh
Ufeeard el YeAa! Il 9ae ol

TG Yo1d J2/Ih Sececdrd e Faeish fhar wien hadares dieashe faarom & 73,
A IS/ nNararaEraad aed Sme foran urershiet Tefbraronfaenrtt fohan fraronfaelt aieee

oIl TEAd 7 UTSadl Haitdd Wes=A Ae HEA SHesd Igdid qear.

T2/ SNEITETET o STATEA TG qrefavar Had Tial TRuc=A1 Hehaeeay ST (qreqed)
AT IR FeRraEgT 10 (371 feadioia @ha.

HEUIRIY Rl 3171 SHROTHos W el STHCA STeeedTd qoa WA= SIWREIIER o W8 el Sed.
o5 AIHTHIS TSI Ao G eh faetell 3718, b AIEmdiel Hird SRAemed Susi Je Jalo.
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faurTI
gy HTHT

U9 1 d 3 W8T GO - WIeiel SART shiessiigdeh aral & @rag e foareiesn wyien
ERNEICI ISR DIDRE CEN

HTATE S afgult 2re. e sten an fei=ret forshe Tord: = aramer 3+ e 2rd. A agid
Had ST 379, e STEard 8 ha anmd. for go=i hue forg s1eisa shel. TU 8 ohal q01
Tett=an feomaret et et ag el el

HIfeh SMesl HETRUTCTohe STHTAT WTeTd Watal U9 Tegdl. @ Jra Rt qdard a9

fresferct B1d. AT U fEH 319 e SiafstiaTen warst fiesaen. faa <fewmm =t ot < farmdter
T shHh I e, S oY AR e T8 ST, ST e gt et g St TR
TSR e faen e, fereror ol sieemer SRmEee i ! W S A o A g
TRETOTOATSI 37T,

1.

T fiefauarardt wmarsaT ER vt T et ?

(1) feraorerm (2) goftaret

(3) TR (4) sofifersh!

"I IR Wl e, ¥ YSerient shuTe reRnae faae e ?

(1) o ferset adiara =t faasforct (2) o faemdier gom SR U9 Sel
(3) o STt St geia e qui vt (4) fo= aSiel 9ad STeIR o7&,
HTATEAT 3MEY HIGHHSRIE UH HITae (&g ad ?

(1) Hei forepact (2) Feiten <UEE H A Fiftaa
(3) U FHT He (4) Heiten freromardt TememR S oo

Space for Rough Work
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U9 4 0 6 |IST o1 - YT hiadT hiessigeeh ared el e faameiean yyren sair
A gty e
STEA K 3H WS ¥
S wRTel farfasrer W
EESR IR Gt
ledd] glls — RMMHA sHIR
o F1eseR qerm gan &

AT TG 28 AT a8

3T faged ==e el
IR SRR TCAR ]
A ARGeT qeft
Teg foas I Hee

FreAford STedt et &ft

s THed shretedl S

STFTET A §&A SH
TewEe Yeye o fa=tau
TS Freft gezelt A
4. UTSET o SuAT fEelt ey ?
(1) fefesm=it (2) SRR
(3) ot (4) =
5. UIIcTUGh! ShIUTCT JTSTET WHTTL IT6% hidae STTeT ATal ?
(1) it (2) T
(3) W (4) sl
Space for Rough Work
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6. UTUHTER Sgesidl 48T ThiuT Hettad ?
(1) FreeR dem g (2) G T g8l
(3) T AU ATTIE (4) T YETTEA [STHURT qraEraT o4
7. @Telt fectean areRTd TRt Ham fendt 3t ?
"SR R0 e ? i H wifgerd a8 5 )
(1) 9= (2) =R
(3) 3 (4) [
8. STuURfEd YR forT siiesar :
G I SR ESTel e,
(1) TqERfer (2) S
(3) e (4) fefer
9. e (EeieaT ATerITeieT hies ShiUTaT ?
‘@ozwﬂ AR e[l Jrefei=d] Shisedl SO AR,
(1) adHHHS (2) TSRS
(3) ¥dHies (4) siforaies
10. YScTUeh! 3195 YreaT= vt fraet
(1) gefe (2) o
(3) g (4) HROt
11. YSTAUeh! Uehde-SHeharamTel 1T ST ShIvTdr ?
(1) =mex - =l (2) AR - el
(3) foFR - formrt (4) IR - IR
Space for Rough Work
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12.

13.

el are ALYUT FUAHIET I ugig et

YA AATE] Teheel! SE el AT = e </<a/=m..........

(1) M T et (2) IR STheeh

(3) TSt Feselt (4) die Ui eat

@rett faetean sratet Jra wur utaiy et @

&% T &% SR e,

(1) EaTel =t 99 & ? 2) ol;lc""gmcdl TTe e

(3) IR HIHSTE T (4) 3TScl gl Meard S

W9 14 T 16 WISt G - Wedt FEeter Hars are @rer e faemeresn wyaiet sw waiaigT
fraet

", faeRe eI et

"% ¢,  UoThe T <.

"SR, el TTE AT ST, Hell ared gorrd wned e .’

"'u 9ar, LSt foget s e 2"

“arg, 1 faene AIdeR IvrEed Gosar. !

T 3T STE e HIHihe Sa=d.”

“qur qTE, I R T SefHeT=l H9 e A !

3T T ATefead ST, SATSH-SATSIE] JU7 TS Melgd 3erd, WA 37 7 Jrereia.”
IS dIgehe S weumedl, *Hi A SR SArEHre. T8, = o !
“uT STTE qRATETST Aieetd, ST SR qur uee |

" T HEET IR, W el o 3ea 2

" IHT Tesad STEAT X, ST SRl de od A !

“qu 18, WBuiE! fadehd sTerydes e A !’

" oT1R,  Afe. W Wi sTEar.”

Space for Rough Work
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14.

15.

16.

17.

18.

19.

T Harera ferdt STUTET Seoid 3T 3118 ?

(1) &3 2) =W

3) T (4) @@

TS HATE TSAT o A3 ThiuTdl STETE ?

(1) Hearhes ) T

(3) Hhles (4) IR

FISTAT HIHTRS ST SITES e ?

(1) 73 < <7 Teed = (2) = W Bt T

(3) A STefcad gl WU (4) TTEET I AT B U

el e STammed Jehrar e W vataias et @
AME: | I S SiEen | “usswissy | dresE”

3 o £ S E

(1) 2 (2) =

(3) = (4) &

EICTUGh THTATY JTaRT AT SISt eien uaia faer.

(1) e - 39 (2) fowre - Rt

(3) wart - fFR (4) HeEd - 3T

Weiiet ITegshigammed T, g8, fffrdt ar srat=r vies freuararst orer =hiurdt 31er dier ?

af

gl —>
T[2]X
at
Bl
() 7,9, 9 (2) 9,9, 9
(3) T, S, H (4) &, F, H
Space for Rough Work
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20. Rermn ST AT STciehTiien IT68 UdTaiqT farer.
ST ST Hard Al ST W9 O ......... ER LS
(1) et (2) wre
(3) amEHd (4) <
21. 'SUFRRTETA AT AT JERAHEEEA eh I1e% qAiaiq fast.
(1) S (2) TR
(3) U (4) fasn
22. UEIeTUent ST HHEEYIh I15% STeTeN Ut e
(1) foera =actesn efi==t - T8 (2) Hedi=n - =N
(3) WS - M (4) ATRSTHE! - Hicd
23. UEA IT6% YISEERIVITAICT GhATH TITEeT STHAT SSTalehe GO JUTRT IT6] hIUTeT ?
fawa, faw, fauir, foar, fadare
(1) foea (2) fowa
(3) forefars (4) foem
24. UETeTuent fasagTell FTeRie Jehret SISt e
(1) 39 x 37T (2) TasT x Fres
(3) et x fea (4) A X IRAA
25. USTAUehT ShieraT & shelt A< Teeh SIST Faet.
(1) srault - | FeR (2) THE - FTeAHA
(3) THAET - THRH H7e (4) gt - afeumaré =
Space for Rough Work
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favr o
Ut

26. ‘ORI TS Y TR ESTT UT9T TeAT00Te’ T HEaT AUTRY Shiteh H&AT Wieierieht

HIOTAT ?
(1) 5,09,77,600 (2) 5,09,77,599
(3) 59,77,600 (4) 5,97,70,700

27. 0.561 T SITIYT YTk SHIUTET I HYUTIRTEAT HEN ITE.
(1) 0.590.56 (2) 0.50 & 0.60

(3) 0.562 4 0.57 (4) 0.5690.57

28. freRroTen 3 FRifag @@ 9 FreRvT SIgT TaR AT SehTeT ot fIrifag s ?

(1) 6 (2) 4
(3) 2 4 1
Space for Rough Work
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26.

217.

28.

Section 11

Mathematics

Which number will occur consecutively after five crores nine lakhs seventy seven thou-
sand five hundred and ninety nine ?

(1) 5,09,77,600 (2) 5,09,77,599

(3) 59,77,600 (4) 5,97,70,700

Between which two decimal fractions does 0.561 lie ?
(1) 0.5and 0.56 (2) 0.50 and 0.60

(3) 0.562 and 0.57 (4) 0.56 and 0.57

A triangle has 3 vertices. If a rectangle is formed joining 2 triangles, how many verti-
ces will it have ?

(1) 6 (2) 4
(3) 2 4 1
Space for Rough Work

0101 -A 9 of 32 P.T.O.




29. Sehd WERNI HEISAT ATfteh WATUTIRUT THET 2240 QTR 35% fomm amames
HAGTIROT THET SUFEd Bel. S AHET 100% WTEMNeh SURRd et a¥ Heere
HAATEOT GHAET fehedt THT 9TeeR Suferd eid ?

(1) 1456 (2) 786
(3) 1356 (4) 1256

30. 52 AT WA WS HieT fasITsTeh & TT=a Tama @e fasTstenren feedt e amg ?
(1) 26 (2) 13
(3) 4 (4) 52

31. 5 ®uaETEt 30 AT I 10 FUITEAT fehdt e faesdtet ?

(1) 3 (2) 6
(3) 15 (4) 20

32. 1 9 I hitieh ehTUSHT SHIUTAE TRl 3ieh Yeileh! Uehar™ AU O BIUTRT HiGaTd Widt

form e 9 T wEE s gt Sk fohdt ?
(1) 1001110 (2) 1111101
(3) 1110110 (4) 1111100
Space for Rough Work
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29.

30.

31.

32.

For Annual General Meeting of Utkarsh Co-operative Society out of 2240 members
35% women share holders were present. If 100% share holders were present, then
how many men share holders attended the annual general meeting of the society ?

(1) 1456 (2) 786

(3) 1356 (4) 1256

How many times is the greatest divisor of 52 is that of smallest divisor ?

(1) 26 2) 13

(3) 4 4) 52

How many notes of Rs. 10 can one get if one gives 30 coins of Rs. 5 ?

(1) 3 (2) 6

(3) 15 4) 20

Form the greatest six digit odd number and smallest six digit even number using the
digits from 1 to 9 only once. What will be the sum of these numbers ?

(1) 1001110 (2) 1111101
(3) 1110110 (4) 1111100
Space for Rough Work
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33.

34.

3S.

36.

3R THT&T 510 TUT frese STl ST, WX et Utard 68% T[UT et STeedier av ot
Tt femet TToTI= Bt ?

(1) 510 (2) 680
(3) 750 (4) 800
%,%,%,%mamgﬁmﬁmmﬁwmﬁ%ﬁmmﬁmmgﬁmam

e 3YUTieh ATeaTaeier Tieh fehel ?

(1) 1 @ =2

(3) % 4) 1

TehT H&ET 5 7 TUTUATUESTT 8 7 T[UTE deg UMTeRIT 39 = aTedr, % o WA ShivTdr ?
(1) 14 (2) 12

(3) 13 4) 15

M FETTCATHHTOT TET ITAT TRl WIehT IR hedTd ‘R’ 7T eI YFren
e UBIeR wIvTd 3781 A3 ?

R
U|P|A
L
I
(1) L (2) A
(3) 1 4) U
Space for Rough Work
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33.

34.

3s.

36.

Onkar passed an exam scoring 510 marks. If he has 68% marks then for how many
marks was the exam conducted ?

(I) 510 (2) 680
(3) 750 (4) 800

What is the difference between the greatest and the smallest fraction if %, %, %, % are

arranged in descending order ?
18 10
(1) 1 (2) &

3 2 ) 1

If a number is multiplied by 8 instead of 5, the product increases by 39, then what is the
number ?

(1) 14 (2) 12

(3) 13 (4) 15

A paper is folded according to the figure and a cubical box is made. Which letter will
be there opposite to the surface with the letter “R” ?

R
U|P|A

(1) L (2) A
(3) 1 (4 U

Space for Rough Work
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37.

38.

39.

40.

41.

WeiteTient Tehrel UeTaet shruTedr ?
(1) 7x8+4=14 (2) 27+3x3=9
(3) 18—13+5=10 (4) 16+5-12=9

SHEA VST GUATAT Teh UF-EeT AT I 34l S Uf-ett o MISART Suai=n Teh U7 a1
WA T U faend S, TEHRMERTAT U=TE STt e fEefl v JhRmEr STEwhe fadt su
XA e ?

(1) 46 (2) 34
(3) 4 (4) 25

TS JUTTAT THELZI. 8 T 2500 TUY 6 AiEATHIST TGS St O WO S SIett
6 Tfg=amer ferdt ==t e ?

(1) 100 ¥ (2) 500 ¥
(3) 200 &9 (4) 600 TR

26586 AT WA TR I TYTeh TATTSAT IThTAT TATeh fohudi= stsT 37Ut I1deh o
TYTeh TATTAT ehT=AT T+ foRAdi= SISt AT thieh fehdt ?

(1) 5920 (2) 5500
(3) 6660 (4) 6080

TIPS 52 THeT T8 2184 TUITEAT feehel STHAT AT 364 FUX STHT HIEAT, T TWIFSIST T
fehelt TUR Telt oltex T foreRd et 318 ?

(1) 1820 (2) 45
(3) 42 (4) 35
Space for Rough Work
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37.

38.

39.

40.

41.

Which of the following expressions is wrong ?
(1) 7x8+4=14 (2) 27+3%x3=9
3) 18—13+5=10 4 16+5-12=9

Joseph bought half a dozen pencils at the rate of Rs. 3.50 per piece and 2 pens at the rate
of Rs. 12.50 per pen. If he gives Rs. 50 to the shopkeeper, how much money will he get
back ?

(1) Rs. 46 (2) Rs. 34
(3) Rs.4 (4) Rs. 25

Rutuja gave Pranav Rs. 2500 on simple interest for 6 months at the rate of 8% p.a. How
much interest will Pranav pay to Rutuja for 6 months ?

(1) Rs. 100 (2) Rs. 500
(3) Rs. 200 (4) Rs. 600

What is the difference between the sum of the place value of the digits in thousands and
tens place in the number 26586 and the sum of place value of digits in the hundreds and
tens place ?

(1) 5920 (2) 5500
(3) 6660 (4) 6080

Magansheth sold 52 litres of milk for Rs. 2184 and earned a profit of Rs. 364. Find the
cost price of milk per litre.

(1) Rs. 1820 per litre (2) Rs. 45 per litre
(3) Rs. 42 per litre (4) Rs. 35 per litre
Space for Rough Work
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42.

43.

44.

45.

46.

TWehT ATt @it ofislt o B3t TR 4 HieT o 3 HieT 311e. & aniareitd 40 Jet ore]
JTTATHT HTETEHA YT THATSATEAT 3T T TehUT SGATETS! fehell W9t mTeitet 2

(1) 50 (2) 100
(3) 75 (4) 400

30 Hiex sistean AT 5 fESRTolt THT= STaRTaR Ut 31TaT S qehediel oist fehet ?
(1) 6. (2) 10 .

(3) 5. (4) 18 7.

32321, 32312, 32231, 32123 3T HE&AT 3aTAT A AT Uigelt o faadt & i<t
T fehdt ?

(1) 64435 (2) 64444

(3) 64552 (4) 64543

Tk 912 400 Fu=meT fasheard faghren % e SR SATEAT. T% T Sqgeit @aT fohme fehedt 2

(1) 150 T (2) 550 T
(3) 250 ®7a (4) 350 TT3

TITH ST UTe e 3 foaeha o, welt eftex 50 vud a1 N T eifme wfeam= gam=
forer foet wU2 Bge ?

(1) 375 (2) 3875.0
(3) 375.50 (4) 387.50
Space for Rough Work
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42.

43.

44.

45.

46.

The length and breadth of a rectangular room is 4 m and 3 m respectively. If this
class room is to be tiled with square tiles whose side is 40 cm, how many tiles will be

required ?
(1) 50 (2) 100
(3) 75 (4) 400

30 m long rope is cut at 5 places. What will be the length of 2 pieces ?
(1) 6m (2) 10m
(3) Sm (4) 18m

What will be the sum of the first and third number if the numbers 32321, 32312, 32231,
32123 are arranged in descending order ?

(1) 64435 (2) 64444

(3) 64552 (4) 64543

When a shirt is sold at Rs. 400, the profit earned is % times the selling price. What is

the cost price of the shirt ?
(1) Rs. 150 (2) Rs. 550

(3) Rs. 250 (4) Rs. 350

1
Everyday, Roshni buys n litre of milk. What will be her bill amount for the month of

August if the rate is Rs. 50 per litre ?

(1) Rs. 375 (2) Rs. 3875.0
(3) Rs. 375.50 (4) Rs. 387.50
Space for Rough Work
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47.

48.

49.

50.

WA ATehfdsiel UTEA FGRTHT STRIT AUTRT STTSh{daier Jie.

[+ %, + %[, A0+ e 2.
(H O+ % 2) +dx
(3) O * + 4) * +[J

stmwm.wﬁaﬁéwmﬁ%awa%uzmw
feean. @ fa=arstas fadt ara foteeten Tfeear ?
(1) 60 (2) 12
(3) 18 (4) 30

fieRiae 900 TUHTS TSATS WA hel. MM FHRMIRTEAT 10 ., 20 F., 50 €. T 100 F=T=T
HHTA e fean o @1 20 SUarean TRt fehedt Arer feer ?

(1) 20 (2) 4
3) 5 4) 10

TTeTRTERt 6016 foram=ht T fereha TUTER. Wekeh TR & 47 WY AT, T @& Adi=an
feret T AR Bredte ?

(1) 128 (2) 118
(3) 108 (4) 228
Space for Rough Work

0101 -A 18 of 32 P.T.O.




47.

48.

49.

50.

Complete the sequence observing the pattern. Choose the correct option.
O+ %, + % [, %O+ ... 7.
(1) O+ * (2) +O %

(3) [ % + (4) * +[]

1
Pradnya had 5 dozen copies. She gave half of the copies to Anushka and 3 times of the

copies to Prajwal. How many copies are remaining with her ?
(1) 60 2) 12
3) 18 (4) 30

Shrikant bought a watch at Rs. 900. He gave equal number of notes of denomination Rs.
10, Rs. 20, Rs. 50 and Rs. 100. Find the number of notes of Rs. 20 that he gave to the
shopkeeper.

(1) 20 (2) 4
3)5 4) 10

Mangalakaku purchased 6016 saplings of lemon. She planted 47 saplings in each row.

How many rows will be formed of those saplings ?

(1) 128 (2) 118
(3) 108 (4) 228
Space for Rough Work
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51. 480 |t = feret Saht Hiex ?
(1) 4.8 (2) 0.48
(3) 48 (4) 0.048
52. 5 TMARIAT WA ATE. T 1 ieaTd vl a5 Ja AU & ?
(1) FeheR (2) v
(3) team (4) HrEER
53. WehT STEATET Gislt o BT TehH 12 WU o 8 WHT 31Te. X 3T 3M=rar=it uRfaet uaet uftfat
T ANETS e fehet ?
(1) 24 = (2) 40 =
(3) 100 =& (4) 96 =9
54. # [] A = fergrean STt o1 eR ShIUTd 3ieh Ao ?
8 % 2 AL
—% 502 3
4 0O s 04
(1) 3,7,9 2)9,7,3
(3) 7,93 4) 9,3,7
55. TELII. W@ A 5000 TIATS 3 oI TSAT 1350 FUH T O =TS < fohedt ?
(1) 5 (2) 8
3)9 4) 7
Space for Rough Work
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51.

52.

53.

54.

5S.

480 cm = ? Decameter.

(1) 4.8 (2) 0.48

(3) 48 (4) 0.048

S5th January is Tuesday. Which day of that month will not occur 5 times ?
(1) Friday (2) Saturday

(3) Sunday (4) Monday

The length and breadth of a rectangle is 12 cm and 8 cm respectively. What will be the
area of square whose perimeter is equal to the perimeter of the given rectangle ?

(1) 24 sq.cm (2) 40sqg.cm
(3) 100 sqg. cm (4) 96 sq. cm

Which numbers will occur in place of 3% (1A ?

g8 % 2 AL

- % s 02 3

4 0504
(1 3,7,9 (2) 9,7,3
(3) 7,9,3 (4) 9,3,7

What will be the rate of interest if Rs. 5000 fetch Rs. 1350 as simple interest after 3
years ?

(1) Sp.cpa. (2) 8p.cp.a.
(3) 9p.cpa. (4) 7p.cp.a.
Space for Rough Work
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56.

57.

58.

59.

L, X, V, D, C, M 3T THTEEAT SaTeT s fetar.
(1) VX,C,D,L,M (2) V,X,L,C,D,M
(3) C,D,L,M,V,X (4) M,D,C,L, X,V

Tk OF HTTRTIH 5 TR e FU=TTErE SRl 9 36 TnTe fiT aRdae ERre |l o
forelt TR RteeTar Tadter ?

(1) 324 (2) 360 FE
(3) 320 =T (4) 28 &3

T, BT, A @ St ar AU ad@reR ST SNA. T URie SER SRiEe Sheard
Tkt fehet geaiRre™ eidiet ?

(1) 3 (2) 4
(3) 5 (4) 6
YTt ek faem sitesan.

(1) TR &I | A ANTed IR e G Id.
(2) R A AT G AR ST I 4.
(3) HUE G T & T 3R T I

(4) AT TR AT=AT ORI et fHesfaeard ‘arsr’ fiyesd.

Space for Rough Work
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56.

57.

58.

59.

Write the roman numerals L, X, V, D, C, M in descending order.
(H V,X,C,D,L,M 2) V,X,L,C,D,M
(3) C,D,L,M,V, X 4) M,D,C, L, X,V

Out of 1 ream paper S quires were used for printing and 36 papers were wasted during

printing. How many papers will remain ?
(1) 324 papers (2) 360 papers
(3) 320 papers (4) 28 dozen

Gauri, Hamida, Mary and Ishwari are friends. They are standing in a circular manner.
They can shake hands with each other only once. How many times will the hand be

shaken ?

(1) 3 (2) 4

(3) 5 (4) 6

Find the incorrect statement from the given alternatives.

(1) When any number is divided by 1, quotient is the same number.
(2) When any number is divided by itself, quotient is zero.

(3) When any number is divided by itself, quotient is 1.

(4) When remainder is added to the product of divisor and quotient, one gets dividend.
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60.

61.

62.

(1) 32 @ 22
45 60
3) 2 @ o

o™ wEhTITes T SRUATETST SHEITEA Uieh TSN 15,08,980 HUY S JuaT=
(AT, HERTTA 168 IMBHTST WhUT fehell HUT SR AT ARTEA ?

(1) 24143680 (2) 253508640
(3) 27161640 (4) 102610640

HehTH 7.30 T ITMdd AT AT 9TTesae 330 Tafsei=i sweasqa =it serer framem av &
ferdt arsTar =’ e e ?

(1) TTSSTHRY ST (2) WrE @I AT
(3) Teh oIl (4) TR TSI
Space for Rough Work

0101 -A 24 of 32 P.T.O.




60.

61.

62.

Which of the following alternatives indicate the equivalent fraction to the shaded
portion in the figure ?

(1) 22 @ 2
45 60
3 2 ) =

Central Government granted aid Rs. 15,08,980 towards the provision of Science
Laboratory per school. How much aid will be required for 168 schools in Maharashtra ?

(1) Rs. 2,41,43,680 (2) Rs. 25,35,08,640
(3) Rs. 2,71,61,640 (4) Rs. 10,26,10,640

Nilesh came to school at 7.30 in the morning. After 330 minutes in school, he started
for home. At what time did he start moving home ?

(1) 11.30 a.m. (2) 10.30 a.m.
(3) 1 o'clock (4) 11 o'clock
Space for Rough Work
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63.

64.

65.

66.

67.

68.

AT ST 3 AR 2000 T TR STEAT. X feIea T@ea Sref<a|Ten shiurdr 9] 38 ?
(1) Team (2) |rEER
(3) HiTeaR (4) wfER

Tiferstt frder firammme 2012 et TR feena 317528 STereri=T & STaTed! e
204537 ST WA ST JUATH TS X TRUT fehell SITETRIT UITAST SIT JUATH 3T ?

(1) 522605 (2) 522607
(3) 522065 (4) 522705

wyit feraret 2

(1) 22250 (2) o
(3) 3R3Ye (4) 2250
TS ARTIET 12% TUTST fehelt ?

(1) 1500 (2) 144
(3) 150 (4) 200

T 15980 &. =1 ST, 20740 &. =1 E9 W faeha saa. fa 2000 Tu=m=am 19 et
FHRMINH e T THRMRR RIS 10 SUITeA fehedt et W &iet ?

(1) 1280 (2) 228
(3) 2280 (4) 128

AATETRSTT 32000 FUTEAT Teh S ek Sqetl & 6N I YUaTETST dieder @ 1500
HUY TEAT. 3 AiETa it 35300 HULTEAT A Se frereat. O 91 SIdgRTd ATrargai=r fepedt
JY SR SATAT ?

(1) 3300 9 (2) 1800 T9
(3) 3000 I (4) 1500 94
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63.

64.

65.

66.

67.

68.

Chaitali was born on Wednesday 3rd August 2000. What will be the day on her tenth
birthday ?

(1) Sunday (2) Monday
(3) Tuesday (4) Saturday

Under Polio Eradication Campaign 2012, in Nagpur district 3,17,528 children were
vaccinated and in Amravati district 2,04,537 children were vaccinated. How many chil-
dren were vaccinated in all ?

(1) 5,22,605 (2) 5,22,607
(3) 5,22,065 (4) 5,22,705

“Two and a quarter thousand” students study in Gurusmruti Vidhyalaya. Express this
number in International numerals.

(1) 22250 (2) Yo
(3) RRRYo (4) 2250
12% of 1250 = ?

(1) 1500 (2) 144
(3) 150 (4) 200

Swara purchased a fridge at Rs. 15,980 and a T.V. set at Rs. 20,740. She gave 19 notes of
Rs. 2000 to the shopkeeper. How many Rs. 10 notes will the shopkeeper return her ?

(1) 1280 (2) 228
(3) 2280 (4) 128

Nanasaheb purchased an ox for Rs. 32,000 and he had to spend Rs. 1500 on transporta-
tion to take it home. After 3 months he sold it at Rs. 35,300. How much profit did he
earn in this transaction ?

(1) Rs. 3300 (2) Rs. 1800
(3) Rs. 3000 (4) Rs. 1500
Space for Rough Work
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312+7O6+344—ﬁ 59

69. 1009 " 2018 " 009 ~
1362 1362
(D) 2018 2) 2036
2018 2018
) 2009 ) 2018

70. 5 9Tqeh + 3 3FTeh + 7 I + 8 ITaAi9T = Tohedt ?
(1) 530.078 (2) 530.78
(3) 53.78 (4) 503.078
71. & ekl Hald e fauT G 9 Gaid Wiel Wel it §H e it aisT fohdt ?
(1) 109999 (2) 1099999
(3) 999999 (4) 99999

72. Weh TS ANTYX-STATEt & 150 fehft ofaw e are verr fafeia o @ed. @ = mEen
ATTYT -3TEhIET ¥ 250 TRt 3Ta¥ Irer AT UR ShuaTaTa! fehedt des aet ?

(1) 2 a9 15 fafwe
(2) 3 A 25 fafe
(3) 5 g 25 fafe
(4) 4 7= 15 fafe

Space for Rough Work
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312 4 706 4 344

= 9

69. 1009 2018 1009 °
1362 1362
(1) 2018 (2) 4036
2018 2018
3) 2009 ) 2018

70. 5 thousand + 3 tens + 7 tenth + 8 hundredth = ?
(1) 530.078 (2) 530.78
(3) 53.78 (4) 503.078

71. What is the sum of the smallest six digit odd number and the greatest six digit even

number ?
(1) 109999 (2) 1099999
(3) 999999 (4) 99999

72. A car covers Nagpur - Amravati 150 km distance in 3 hrs and 15 min. How much time

will it require to cover a distance of 250 km of Nagpur-Akola with the same speed ?
(1) 2 hrs. 15 min
(2) 3 hrs. 25 min
(3) 5hrs. 25 min

(4) 4 hrs. 15 min
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73. 20 T FIS] AT ST Iifehd TR &Tthes hIaT.

(1) 400 =t 3. (2) 100 .
(3) 200 =T (4) 150 =3

Greitel faaey Afedi=an SR I3 ST &,

faemeatr sagumT fawm | foaemeft W
ToTe ©OOOO
S ©0O
fomme © O
IEEC] ©OO©O

g1 1 © = 6 formneff
74, TeamerETa ughT fehdt fameat=h arfedt faett sme.
(1) 13 (2) 68
3) 76 (4) 78

75. Tasmm fau= sasum=an faemeat=ar S=ue niuTd faue smasun=n faemeatsi H@we@r fad
TR 3TTE ?

(1) 2 (2) 12
(3) 24 4) 8
Space for Rough Work
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73. Find the area of the shaded portion of the square whose side is 20 cm.

(1) 400 sq. cm. (2) 100 cm.

(3) 200 sq. cm. (4) 150sq. cm.

Q. 74 & 75. Answer the following questions using the pictorial information.

Subject liked by students | No. of Students
Maths ©OOO
Marathi ©OO
Science ©©
Drawing ©OOO

Scale : 1 © = 6 students

74. What is the number of students about whom the information is given in pictorial

diagram ?
(1) 13 (2) 68
(3) 76 (4) 78

75. By how much is the number of students liking Maths is more than that of the number of
students liking science ?

(1) 2 ) 12
(3) 24 4) 8
Space for Rough Work
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